DL

LADY SHRI RAM COLLEGE FOR WOMEN This question paper contains 3 printed pages]
(University of Delhi) ‘
Lajpat Nagar, New Delhi-24 Roll No. [_l , | I , I | , l l ]
Call No.
Accession No.cfec & gc TITX‘JS em 8. No. of Question Paper : 1759
DATE DUE Dec.el6 ] o ) ) )
This book should be returned to the Library .Umque Paper Code + 12321301 GC-3

on or before the date last stamped. Otherwise . .

the borrower will be fined Re. 1/- per day Name of the Paper ¢ Introduction to Comparative Government and Politics
Name of the Course : B.A. (Hons.) Political Science—CBCS
Semester : I
Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
(39 991-1o < fiew € oW fou o fruffg o w AT S faf@n 1)

Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.

mﬁ_:mm—ﬁww.dﬁsﬁm%ﬁwWwﬁﬁm;%mﬁwﬁ
H WY TF T = |

Attempt any four questions. -

All questions carry equal marks.
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1.. - Do you agree with the statement that comparative politics is a major sub-field of Political

Science ? Critically examine its nature and scope.
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Or
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Analyse the limitations of Euro-centrism in the stﬁdy of comparative politics.
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Examine the salient features of capitalism in the context of globalisation.
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What do you understand by Socialism ? Critically analyse the reasons for the rise and fall

" of socialism in former Soviet Union.
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What do you understand by Colonialism ? Discuss its impact on any one colony of Asia.
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Globalisation has caused major changes in the Chinese political economy. Discuss.
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Highlight the major constitutional developments that have taken place in Great Britain.
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Compare the federal forms of Government of Nigeria and Brazil.
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8.

£3:)
Write short notes on any two of the following :
: (@) Neo-colonialism
(b) Anti-colonial struggle in Africa
(¢)  Political economy of Nigeria

@ One;pal'ty system in China.
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Write your Roll No. on the top immediately on receipt of this question paper.

Attempt any four questions.

All questions carry equal marks.

Answers may be written either in Enoli indi
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1S'Pu.blx‘c Administration ? Discuss the various dimensions and significance
of the discipline in recent times.
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2.

Give an account of major landmarks in the growth of the discipline of public

administration.
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" Analyze how Human Relations theory of organization is an improvement over the

Scientific Management theory.
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Critically analyze Rigg’s ecological perspective for developing countries.
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What is Public Policy ? Discuss the various factors which influence policy

formulation.
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What is Good- Governance ? Describe its main principles.
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Write a critical essay on the feminist perspective in public administration.
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Write short notes on any two of the following :
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(a) Public private partnership
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(b) Weber’s legal-rational model of bureaucracy
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(c) Simon’s theory of decision making
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(d) New Public Service
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Instructions: Please read instructions carefully before attempting the questions in the
following four sections. All sections are compulsory. Marks are indicated in the Brackets.

Section I
HIT-1

structions: Attempt any one question (400 to 500 Words) (15 Marks)

fl. What are the principal ways of stimulating the sociological imagination?

TR STehodel #1 AR F3 & 7T add B F £72

‘ Or
‘2. How are sociological problems different from social problems? Discuss with suitable
examples.
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3. Write an essay (500-600 words), choosing any one of the following topics: (20 Marks)
| (2) The Political Media
b 0) Sexuatities

| (¢) Dressing up the ‘Right Way’
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(d) What is worth knowing?
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Section TIT
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Instructions: Read the following passﬁge carefully and answer the questions at the end of it
in not more than 60 words each.

Attempt all the questions (5 x 4 =20 Marks)

Power has to do with whatever decisions men make about the arrangements under which they
live, and about the events which make up the history of their times. Events that are beyond
human decision do happen; social arrangements do change without benefit of explicit decision.
But in so far as such decisions are made, the problem of who is involved in making them is the
basic problem of power. In so far as they could be made but are not, the problem becomes who
fails to make them?

We cannot today merely assume that in the last resort men must always be governed by their
own consent. For among the means of power which now prevail is the power to manage and to
manipulate the consent of men. That we do not know the limits of such power, and that we hope -
it does have limits, does not remove the fact that much power today is successfully employed
without the sanction of the reason or the conscience of the obedient.

Surely nowadays we need not argue that, in the last resort, coercion is the "final" form of power.
But then, we are by no means constantly at the last resort. Authority (power that is justified by
the beliefs of the voluntarily obedient) and manipulation (power that is wielded unbeknown to
the powerless) must also be considered, along with coercion. In fact, the three types must be
sorted out whenever we think about power.

In the modern world, we must bear in mind, power is often not so authoritative as it seemed to be
in the medieval epoch: ideas which justify rulers no longer seem so necessary to their exercise of
power. At least for many of the great decisions of our time - especially those of an international
sort - mass "persuasion" has not been "necessary;" the fact is simply accomplished. Furthermore,
such ideas as are available to the powerful are often neither taken up nor used by them. Such
ideologies usually arise as a response to an effective debunking of power; in the United States
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such opposition has not been effective enough recently to create the felt need for new ideologies
of rule.

lThere has, in fact, come about a situation in which many who have lost faith in prevailing
loyalties have not acquired new ones, and so pay no attention to politics of any kind. They are
not radical, not liberal, not conservative, and not reactionary. They are inactionary. They are out
of it. If we accept the Greek's definition of the idiot as an altogether private man, then we must
conclude that many American citizens are now idiots. And I should not be surprised, although I

do not know, if there were not some such idiots even in Germany. This - and I use the word with -

care this spiritual condition seems to me the key to many modern troubles of political
intellectuals, as well as the key to much political bewilderment in modern society. Intellectual
"conviction" and moral "belief" are not necessary, in either the rulers or the ruléd, for a ruling
power to persist and even to flourish. So far as the role of ideclogies is concerned, their frequent
absences and the prevalence of mass indifference are surely two of the major political facts about
the western societies today.

How large a role any explicit decisions do play in the making of history is itself an historical

problem. For how large that role may be depends very much upon the means of power that are
available at any given time in any given society. In some societies, the innumerable actions of
innumerable men modify their milieux, and so gradually modify the structure itself. These
modifications - the course of history - go on behind the backs of men. History is drift, although
in total "men make it." Thus, innumerable entrepreneurs and innumerable consumers by ten-
thousand decisions per minute may shape and re-shape the free market economy. Perhaps this
was the chief kind of limitation Marx had in mind when he wrote, in The 18" Brumaire: that
"Men make their own history, but they do not make it just as they please; they do not make it
under circumstances chosen by themselves.... "

But in other societies - certainly in the United States and in the Soviet Union today - a few men
may be so placed within the structure that by their decisions they modify the milieux of many
. other men, and in fact nowadays the structural conditions under which most men live. Such elites
~ of power also make history under circumstances not chosen altogether by themselves, yet
compared with other men, and compared with other periods of world history, these
circumstances do indeed seem less limiting.

I should contend that "men are free to make history," but that some men are indeed much freer
than others. For such freedom requires access to the means of decision and of power by which
history can now be made. It has not always been so made; but in the later phases of the modemn
epoch it is. It is with reference to this epoch that I am contending, that if men do not make
history, they tend increasingly to become the utensils of history-makers as well as the mere
objects of history.

The history of modern society may readily be understood as the story of the enlargement and the
. centralization of the means of power - in economic, in political, and in military institutions. The
rise of industrial society has involved these developments in the means of economic production.
The tise of the nation-state has involved similar developments in the means of violence and in
those of political administration.

|
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4. What does
the author mean by power and how is it related to consent?
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5. According to the author what holds the ‘key to much political bewilderment in modern
society’?
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6. How are power and process of history-making related to each other in our times?
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7. Give a title to this passage and justify it.
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Section I'V

8. Write a summary of the passage in 150 words: (20 Marks)

The Europeans' consistently low regard for non-Western time-keeping devices and perceptions
of time became more pronounced in the era of industrialization, when what were regarded as
African and Asian deficiencies in dealing with time were cited as evidence of the fundamental
differences that set Europeans off from the rest of humankind. As manifestations of these
deficiencies, essayists and colonial policy-makers pointed to the supposedly inherent lack of
punctuality exhibited by non-Western peoples, their improvidence and lethargic work habits, and
their apparent indifference to time "lost" or "wasted" in gossip, meditation, or simply

daydreaming.

These views were nurtured by the rise and spread of the factory system in the late eighteenth and
early nineteenth centuries. Ever larger numbers of Europeans, from managers and business
executives to laborers and office clerks, became involved in work routines that were regulated by
clocks and whistles.The "fit and start character" of pre-industrial labor, in which work and play
were rather indiscriminately mixed, was ill suited to the new industrial order. Punctuality was at
a premium; tardiness was "paid for" by fines or loss of employment; and machines set the pace at
which men, women, and children labored. Time became a commodity that could be "saved,”
"spent, “or "wasted." Laborers sold it; entrepreneurs bought it. Work time and leisure time were
clearly demarcated, and there emerged an industrial work ethic that stressed time thrift, human
subordination to machine rather than natural or personal rhythms, and productivity rather than

individual skills or expression.

In the nineteenth century the impact of the factory system on temporal perception was extended
by the mass production of clocks and watches, which made possible their widespread purchase
by the lower middle classes and the better-paid elements of the working classes. In addition, the
rapid growth of the middle, skilled working, and urban service classes plus the great expansion
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of national and international market and transportation networks meant that the new secular and
| mechanized time sense became a dominant feature of day-to-day life throughout much of
| Western Europe and parts of North America. New modes of transport, especially the railway,
also accelerated - at a steadily increasing rate - the very pace at which Europeans lived their daily
lives...

Work schedules, business appointments, and railway timetables regulated the rthythm of life in
industrializing societies. Inventors, investors, business managers, and eventually efficiency
. experts such as Frederick Taylor strove for technological and organizational advances that would
' render production more time-efficient and transportation and communications more rapid.

Educational systems, which affected ever larger portions of the populations of northwestern

Europe, inculcated the virtues of time thrift, saving and investing, and punctuality that became
* vital to success in the capitalist environment. New religious sects such as the Methodists
. reinforced the earlier admonitions of the Calvinists and other time-conscious religious
' movements against wasting or losing time, and exhorted the faithful to "walk

circumspectly...redeeming the time; saving all the time you can for the best purposes; buying up
" | every fleeting moment out of the hands of sin and Satan. Thus, by the early nineteenth century,
| the Europeans who explored, colonized, and sought to Christianize Africa and Asia were setting
* out from societies dominated by clocks, railway schedules, and mechanical thythms. They "went
| out" to cultures still closely attuned to the cycles of nature, to societies in which leisure was
‘ savored, patience was highly regarded, and everyday life moved at a pace that most Western
| intruders found enervating if not downright exasperating,
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. Instructions: Please read instructions carefully before attempting the. questions in the
: following four sections. All sections are compulsory. Marks are indicated in the Brackets.

Section I
ATIT- 1

| Instructions: Attempt any one question (400 to 500 Words) (15 Marks)
1. What are the principal ways of stimulating the sociological imagination?
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Or )
' 2. How are sociological problems different from social problems? Discuss with suitable

‘ examples.
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Section IT
AET- 11

! 3. Write an essay (500-600 words), choosing any one of the following topics: (20 Marks)
(a) The Political Media
(b) Sexualities

(c) Dressing up the ‘Right Way’
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(d) What is worth knowing?
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Section III
HTT- TIT

Instructions: Read the following passage carefully and answer the questions at the end of it
in not more than 60 words each. :

Attempt all the questions (5 x 4 =20 Marks)

Power has to do with whatever decisions men make about the arrangements under which they
live, and about the events which make up the history of their times. Events that are beyond
human decision do happen; social arrangements do change without benefit of explicit decision.
But in so far as such decisions are made, the problem of who is involved in making them is the
basic problem of power. In so far as they could be made but are not, the problem becomes who
fails to make them?

We cannot today merely assume that in the last resort men must always be governed by their
own consent. For among the means of power which now prevail is the power to manage and to
manipulate the consent of men. That we do not know the limits of such power, and that we hope
it does have limits, does not remove the fact that much power today is successfully employed
without the sanction of the reason or the conscience of the obedient.

Surely nowadays we need not argue that, in the last resort, coercion is the "final" form of power.
But then, we are by no means constantly at the last resort. Authority (power that is justified by
the beliefs of the voluntarily obedient) and manipulation (power that is wielded unbeknown to
the powerless) must also be considered, along with coercion. In fact, the three types must be
sorted out whenever we think about power.

In the modern world, we must bear in mind, power is often not so authoritative as it seemed to be
in the medieval epoch: ideas which Justify rulers no longer seem so necessary to their exercise of
power. At least for many of the great decisions of our time - especially those of an international
sort - mass "persuasion" has not been "necessary;" the fact is simply accomplished. Furthermore,
such ideas as are available to the powerful are often neither taken up nor used by them. Such
ideologies usually arise as a response to an effective debunking of power; in the United States
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such opposition has not been effective enough recently to create the felt need for new ideologies
of rule.

"There has, in fact, come about a situation in which many who have lost faith in prevailing
loyalties have not acquired new ones, and so pay no attention to politics of any kind. They are
not radical, not liberal, not conservative, and not reactionary. They are inactionary. They are out
of it. If we accept the Greek's definition of the idiot as an altogether private man, then we must
conclude that many American citizens are now idiots. And I should not be surprised, although I
do not know, if there were not some such idiots even in Germany. This - and I use the word with
care this spiritual condition seems to me the key to many modem troubles of political
intellectuals, as well as the key to much political bewilderment in modern society. Intellectual
"eonviction" and moral "belief" are not necessary, in either the rulers or the ruled, for a ruling
power to persist and even to flourish. So far as the role of ideologies is concerned, their frequent
absences and the prevalence of mass indifference are surely two of the major political facts about
the western societies today.

How large a role any explicit decisions do play in the making of history is itself an historical
problem. For how large that role may be depends very much upon the means of power. that are
available at any given time in any given society. In some societies, the innumerable actions of
innumerable men modify their milieux, and so gradually modify the structure itself. These
modifications - the course of history - go on behind the backs of men. History is drift, although
in total "men make it." Thus, innumerable entrepreneurs and innumerable consumers by ten-
thousand decisions per minute may shape and re-shape the free market economy. Perhaps this
was the chief kind of limitation Marx had in mind when he wrote, in The 18" Brumaire: that
"Men make their own history, but they do not make it just as they please; they do not make it
under circumstances chosen by themselves.... "

But in other societies - certainly in the United States and in the Soviet Union today - a few men
may be so placed within the structure that by their decisions they modify the milieux of many
other men, and in fact nowadays the structural conditions under which most men live. Such elites
of power also make history under circumstances not chosen altogether by themselves, yet
compared with other men, and compared with other periods of world history, these
circumstances do indeed seem less limiting.

I should contend that "men are free to make history," but that some men are indeed much freer
than others. For such freedom requires access to the means of decision and of power by which
history can now be made. It has not always been so made; but in the later phases of the modern
epoch it is. It is with reference to this epoch that I am contending, that if men do not make
history, they tend increasingly to become the utensils of history-makers as well as the mere
objects of history.

The history of modern society may readily be understood as the story of the enlargement and the
centralization of the means of power - in economic, in political, and in military institutions. The
rise of industrial society has involved these developments in the means of economic production.
The rise of the nation-state has involved similar developments in the means of violence and in
those of political administration. ‘
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4. What does the author mean by power and how is it related to consent?

g & AfFd ¥ A1 A § 9 9 A ¥ R e defeud g2

P.T.O.

8360 6

5. According to the author what holds the ‘key to much political bewilderment in modern
society’?

m%a@m“aﬂgﬁaw#mﬁrnﬁﬁﬁmmaﬁ“wﬁ?
6. How are power and process of history-making related to each other in our times?
Y AT & aﬁaﬁm—ﬁmﬁmmmwm#mﬁ?

7. Give a title to this passage and justify it.
$H IR o U o AR @ 53 erse fifs

Section IV

8. Write-a summary of the passage in 150 words: (20 Marks)

The Europeans' consistently low regard for non-Western time-keeping devices and perceptions
of time became more pronounced in the era of industrialization, when what were regarded as
African and Asian deficiencies in dealing with time were cited as evidence of the fundamental
differences that set Europeans off from the rest of humankind. As manifestations of these
deficiencies, essayists and colonial policy-makers pointed to the supposedly inherent lack of
punctuality exhibited by non-Western peoples, their improvidence and lethargic work habits, and

their apparent indifference to time "lost" or "wasted" in gossip, meditation, or simply
daydreaming.

These views were nurtured by the rise and spread of the factory system in the late eighteenth and
early nineteenth centuries. Ever larger numbers of Europeans, from managers and business
executives to laborers and office clerks, became involved in work routines that were regulated by
clocks and whistles.The "fit and start character" of pre-industrial labor, in which work and play
were rather indiscriminately mixed, was ill suited to the new industrial order. Punctuality was at
a premium; tardiness was "paid for" by fines or loss of employment; and machines set the pace at
which men, women, and children labored. Time became a commodity that could be "saved,”
"spent, “or "wasted." Laborers sold it; entrepreneurs bought it. Work time and leisure time were

clearly demarcated, and there emerged an industrial work ethic that stressed time thrift, human

In the nineteenth century the impact of the factory system on temporal perception was extended
by the mass production of clocks and watches, which made possible their widespread purchase
by the lower middle classes and the better-paid elements of the working classes. In addition, the
rapid growth of the middle, skilled working, and urban service classes plus the great expansion
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of national and international market and transportation networks meant that the new secular and
mechanized time sense became a dominant feature of day-to-day life throughout much of
Western Europe and parts of North America. New modes of transport, especially the railway,
also accelerated - at a steadily increasing rate - the very pace at which Europeans lived their daily
lives...

Work schedules, business appointments, and railway timetables regulated the rhythm of life in
industrializing societies. Inventors, investors, business managers, and eventually efficiency
experts such as Frederick Taylor strove for technological and organizational advances that would
render production more time-efficient and transportation and communications more rapid.
Educational systems, which affected ever larger portions of the populations of northwestern
Europe, inculcated the virties of time thrift, saving and investing, and punctuality thdt became
vital to success in the capitalist environment. New religious sects such as the Methodists
reinforced the earlier admonitions of the Calvinists and ofher time-conscious religious
movements against wasting or losing time, and exhorted the faithful to "walk
circumspectly...redeeming the time; saving all the time you can for the best purposes; buying up
every fleeting moment out of the hands of sin and Satan. Thus, by the early nineteenth century,
the Europeans who explored, colonized, and sought to Christianize Africa and Asia were setting
out from societies dominated by clocks, railway schedules, and mechanical thythms. They "went
out" to cultures still closely attuned to the cycles of nature, to societies in which leisure was
savored, patience was highly regarded, and everyday life moved at a pace that most Western
intruders found enervating if not downright exasperating.
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_ . (¢) Mention the names of all 4 properties-of a good estimator.

I It question paper contains 2 printed pages. ' vur Roll No...

zigue Paper Code . +32375301

o3 ce)
@me of Paper : Basics of Statistical Inference

ane of Course : B.Sc. (H) / B.Com. (H) / B.A. (H) (CBCS) : <.t iIX

erester : 111

iiation : : 3 hours
erimum Marks 378
(Write your Roll No. on the top immediately on receipt of this question paper.)

Attempt sixquestions in all. Q. No. 1 is compulséry. At;emﬁtﬁve questions from the remaining
question. Use of simple calculator is allowed.

-(a) Answer the Iolluwmb
) IfX,, X, ..., X, constitute a random sample from a populanon with the mean p,

hen what CODdlthl’l must be imposed on the constants a, a:, ..., a, so that
a Xyt azxz EaXy
isan unblased estimator of p?
(i)  Inany testing problem, thetype _error is considered more serious than type .
€ITOr. -

(iii) Ina3x4 con_nngency tab]e, the number of degre_&s of freedom is

(iv) ~ The Yate’s corrections are generally made when number ot‘degrees of freedom
is

V) = EEisa smtable non-parametric test for mmg if two mdependent Samples are
likely to have been drawn from the population with the same median.

(vi) - The analysis of variance technique tests the significance of the difference among
sample

(vii)  In one-way classification model the sum of squares within classes equals

(viil) The sin snmplest expmmemal desxgn which is based on only two basic pnncnples of

design of experimentsis . = .
(i) Ina RBD with v treatments and b blocks, the d.f. for SSE i ety

: i : ; )]
(b) Mention the null and alternative hypothesés along with the test statistic for difference
of two population proportions for one-sided and two-sided tests.
‘ ' 3)

3
2. (2) Define the following: g
(i) Two types of errors
(ii) P-value :
(iii) Crmcal Reglon

(b) A dice is thrown 9000 times and a throw of 3 or 4 was observed 3240 times. Show
that the dice cannot be regarded as an unbiased one and find the limits between which

' the probability of a throw of 3 or 4 lies.
(6,0)

3. (a) Explain the method of constructing a 5% confidence interval for difference of means of
two normal populations with means L, {1z and vaiiances & and oo if

@) 612 and o,” are known but sample sizes ny and ny are large,
(ii) o,* = 6y°=c" is unknown and sample sizes n; and ny are small.

(b) Suppose that 100 high-performanee tires macz by a certain manufacturer lasted on

the average 21,819 miles with a standard dev n of 1,295 miles. Test the null”
hypothesis p = 22,000 miles against the alternative hypothesis p < 22 000 miles at the
0.05 level of significance.

(6,6)

4. (a)Describe the chi-square test of goodness of fit.
(b) The following table shows the result of inoculation agaiqsf cholera:
. .| Not-attacked Attacked
Inoculated | 431 5
: Not-inoculated | 291 9
Is there any sxgmﬁcant association between inoculation and attack? Given that for
1 d.f. P=0.074for y’=3.2 andP=0069 for - =33
(6.6)

5.(a) Describe advantages and disadvantages of non-parametric tests over paramemc tests.
Descnbe the Wilcoxcm sxgned-rank test.

(b) The followmg are 15 measurements of the octane rating of a certain kind of gasoline: 97 5;
95.2, 97.3, 96.0, 96.8, 100.3,: 974 953,932, 99.1, 96.1,97.6, 98.2, 98.5 and 94.9. Use the
SIgned -rank test at the 0.05 level of s:gnlﬁcance to test whether the mean octane ratmg of the

given kind of gasolme is98.5. (GwenTo 05=21) ;
(69

6. Describe the technique of analysis of variance. Carry out the analysis of variance for a one-
way classification
- .(12)

7: (a) Explam the following terms which oceur in Des:gn of Expenments
(i) Experiments g
(i1) blocks
(iii) plots.

(b) Complete the following table: -

Sources of | Degrees | Sum  of | Mean Sum | S
Variance = | of . Squares of Squares ; ;
Freedom :
Blocks [ 61.5 -
Treatments | 5 ; - -
. | Emror - - 20.91
| Total - 418.1°

Has division into blocks proved effective at 5% level of significance? Given Foos( 4,20)=

2.87.and Fos( 5,20)= 2.71
(AR
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(¢) Mr. David, a citizen of India and a Government employee serving in the
Ministry of External Affairs, left India for the first time on 31.03.2015 due
to this transfer for The High Commission of India in Australia. He did not
visit India any time during the previous year 2015-2016. He has received
the following income for the Financial Year 2015-16:

S.No. | Particulars : Rs.
(1) Salary 5,00,000
(i1) Foreign Allowance 4,00,000
(iii) | Interest on fixed deposit from bank in India 1,00,000
(iv) | Income froﬁ house property in Nepal, received there 2,50,000
‘(v) Income from Agriculture in Nepal, received there 1,00,000
(vi) | Dividends from SKI Ltd., and Indian Company. 12,000
(vii) | Dividends from an Australian Company, received in Australia 20,000

Compute his gross total income for Assessment Year 2016-17. (3+3+3)

() smaR sfefe, 1961 F g @ o av- FuiRe’ @ 27

(W) T st e e R, oo R et @ e st a at g
e 22.09.2015 ' TER IR WK BiT W Y

FEET AfefHE 1961 F FHER St IR D srarig Rufy i Pk sree 9§
2016-17 ¥ &gl

(W) A M, A AR v R W ¥ Ja g wed wwa, T aw
i 3103.2015 @ e ferar feore s IR B ST TR AR @ FROT
¥RE BgaR M) Az af 2015 - 2016%35wﬁmwaﬁmlﬁa-‘ﬁaaﬁ
2015 - leﬁﬁ%ﬁwﬁﬁﬁmmaﬁ%
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(1) RG] 5,00,000

(2) foRw wem 4,00,000

(3) WRa oo & & aEf oW W s 1,00,000

(4) At feum 5 wwafe & @8l U FA 2,50,000

(5) AU ¥ [ F I8 I A" 1,00,000

(6) YRAT F wEE, ffes & wra anne 12,000

(7) T Ao FE | Asl ure A 20,000
- Frefeor af 2016-17 @ R I 9Fw A T F IRao Dol

OR

(a) State three instances where the income of the previous year is assessable in
the previous year itself instead of the Assessment Year.

(b) Mr. Ramesh & Mr. Suresh are brothers and they earned the following income
during the financial year 2015-16. Mr. Ramesh settled in Canada in the year .
1995 and has not visited India since. Mr. Suresh is settled in Delhi and has
never left India. Compute their total income for the assessment year 2016-17.

Particulars Mr. Ramesh | Mr. Suresh
ki (Rs) (Rs)

1. | Interest on Canada Development Bonds (only 35,000 40,000

50% of interest received in India)
2. | Dividend from British company received in 28,000 20,000
London

3. | Profit from a business in Nagpur, but managed 1,00,000 1,40,000

directly from London

4. Income from a business in Chennai _ 80,000 70,000

5. | Fees for technical services rendered in India, but 1,00,000 e

received in Canada s
6. | Interest on savings bank deposit in SBI, Delhi 7,000 12,000
7. | Agricultural income from a land situated in 55,000 45,000
Andhra Pradesh
8. | Rent received in respect of house property at 1,00,000 60,000
Bhopal
9, | Life insurance premium paid e 30,000
‘ (3+8)
P.T0,
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() & = Iereer Aoy Roed frea ad 3 amg ax - ferkor ad & e w A af
¥ g -yl 2n

(@) fo= O vE o g A ¥ ok IR Rt w2015 16 @
Ffafaa s afa o st @ af 1995 F @@ § 55 7T vF 99 ¥ wRe

T8 e B f W Rt F 7@ e ¥ ok s f v Qe @ T e

fefeor o 2016-17 B fog SR T I T TRee

whaies | faawor s @ | e a
L3 %
1 TR ITATHC A W U I (ART 35,000 40000

Fae 50% s are fwan @)

7 e ¥ Tofew s & e wman 28,000 20,000
5 AR F Ram faheg goow w9 A Ao A 1,00,000 1,40,000
4. J=~7E T =R | urE I 80,000 70,000

5. TRt A @ T RE F s &t 1,00,000

T T AR ¥ U T W

6. TR W A, oot 3 v o o 7,000 12,000

T dF W U =

7. S ge # Ream fe ¥ T g s 55,000 45,000

8. o e wew weafa ¥ ure fwmn 1,00,000 60,000

9. She d R @ e R | 30,000

r
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2. Mabhesh is a Finance Executive at X Ltd. His Income details are as follows:
Basic salary Rs. 3,00,000 per month
Dearness allowance (forming part of salary) 30% of basic salary
Transport allowance (for commuting between place of residence | Rs. 3,600 per month
and office)
Motor car running and maintenance charges fully paid by | Rs. 40,000
employer

(The motor car is owned and driven by Mahesh. The engine cubic
capacity of car is below 1.60 litres. The motor car is used both for
official and personal purpose by Mahesh)

Rent Free Fumished Accommodation provided by the employer in
Delhi.

¢ Cost of furniture 1,00,000
e Two Air conditioners taken on hire by the employer
and installed in the accommodation. Hire Charges
of each air conditioner is Rs. 2,000 per annum
Expenditure on accommodation in hotels while touring on official | Rs. 30,000

duties met by the employer

Computer (cost Rs. 50,000) provided by the employer to Mahesh | -

from 1.10.2015 =

Interest on saving bank account with PNB ~ * Rs. 8,000
Inerest on post office saving bank Rs. 5,000

Mahesh made the following payments:

Tuition fee paid for 2 children studying post- Rs. 1,60,000

graduation courses at Madras University

He donated Rs. 50,000/~ to government for

promoting families planning

Medical Insurance premium paid:

by cash Rs. 5,000

by cheque Rs. 22,000

From the above, compute his total income for the Assessment Year 2016-17.

: (11)
Y X it v ¥ i e ?) 39T 9 & e w3 yeR €

B0,
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Iqded fomw & MR W, & - Fuior af 2016-17 & o St G @ w1 aREe
Figl

OR

Mr. Garg, an employee of PQR Co. Ltd. at Chennai and covered by Payment of
Gratuity Act, 1972, retries at the age of 63 years on 31-12-2015 after completing
34 years and 7 months of service. At the time of retirement, he is entitled for
monthly pension of Rs. 40,000. He gets 80% of pension commuted for Rs.
9,00,000 on 1st February, 2016. His employer also pays Rs. 20,51,640 as
Gratuity and Rs. 6,00,000 as accumulated balance of Recognized Provident fund.
Determine the salary chargeable to tax for Mr. Garg for the Assessment Year
2016-17 with the help of following information.

Rs.
Basic Salary (Rs. 80,000 x 9) 7,20,000
Bonus 72,000

Employer contribution towards Recognized Provident Fund | 1,10,000

Rent paid by Mr. Garg (Rs. 12,000 x 12) 1,44,000
House Rent Allowance (Rs. 20,000 x 9) 1,80,000
Professional Tax paid by Mr. Garg 5,000

Note : Salary and Pension falls due on the last day of each month. (11)

s T, U= R v SR WiEe A, 1972 3R aReTRE R aR. SR
it & wdad i 31-12-2015 F ¥TT & 34 994 wF 7 WA Q T 63 T A
Fg ¥ Jfige B ¥ JFgRE @ i TF T 40,000 3 WS Y & st &
7€ | TE, 2016 F & 9,00,000 P g ARONGT T M 80% AT U et F1 I
il STEH R T H T 20,51,640 TE AT T R R @ sRe dw e WA ©
6,00,000 T St AR e B) FfoRas o9 & R W - FuRe ad 2016-17
2q i @ i R T Ao w Freior i

P.T.O.
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®
@ a9 (T 80,000 X 9) 7,20,000
A 72,000
wer yr wfaer A g fFAde = dies 1,10,000
S I GRS R R (12,000 x 12) 1,44,000
g &R e (% 20,000 X 9) 1,80,000
ST T B YA o T e 5,000

feooft: 37 va Yo ww WA B ifw R wra A

Dr. Chandha is running a clinic. Compute his total income for the A.Y, 2016-17.

31
His Income and Expenditure account for the year ending 3 1st March, 2016 is
given below:
Expenditure Rs. Income Rs.
To Staff Salary 4,30,000 | By Fees Receipts 12,63,600
To Consumables 8,000 By Dividend from Indian| 15,000
: Companies
To Medicine consumed 3,69,800 | By Winning from Lotteries (Net | 28,000
of TDS of Rs.12,000)
To Depreciation 91,000
To Administrative Expenses 1,51,000
To Donation to Prime 5,000
Minister's National Relief
Fund
To Excess of Income over | 2,51,800-
| expenditure_
Total 13,06,600 Tetal 13,06,600
Other Information:

(i) Medicines consumed include medicine of (cost) Rs. 25,000 used for his

family.

(i) Fees receipts include Rs. 20,000 honorarium for valuing medical examination

answer books.

(iii) He received Rs. 8,000 per month as salary from a City Care Centre. This
has not been included in the ‘Fees Receipt’ credited to Income and

Expenditure Account.

B
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(iv) He has paid premium of Rs. 45,000 for a LIC Policy on his life, which was
taken on 1.08.2013 (sum assured Rs. 4,00,000).

(v) His has paid Rs. 4,000 for purchase of lottery tickets, which has not been
debited to Income and Expenditure account.

(vi) Depreciation in respect of all assets has been ascertained at Rs. 50,000 as
per Income-tax Rules, 1962

(vii) He deposited Rs. 1,50,000 in PPF.

(viii) Donation of Prime Minister National Relief Fund has been made by way of
crossed cheque. (11)

. e v free wen @ #) o - i ad 2016 - 17 3 g 39 w19 @ i aRee Fie)
319, 2016 Y T BT A T4 3 IAHN HG TG oG @ A e wn

aa : = I £
FHARAG & AT & oIy 4,30,000 e e 12,63,000
ITHIe GFREl & e 8,000 W FHal ¥ are 15,000
AT & F
ITenT & T T @ fore 3,69,800 wed St ara 28,000
war (Feaw dfiga =
12,000 =)
e & forg 91,000
e =@ & o 151,000
Al TEd I A T 5,000
= & o
=g o g X e 2,51,800
s & fore
= 13,06,600 | @& 13 ,06,600
F FAHN:
(i) i @ TR Tl ¥ I aRaR @ R Iwd 2 T ® 26,000 () H TR
wfeafera &1
(i) e e ¥ Rifthear 9den IR IRIFS w1 ST P T 20,000 F
WY wivAfer 21

P,
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(i) v f& S Aex ¥ 7% 9 AT I9T R W F T 8,000 W = B R s Sk

10

o @ F BT N T gew W’ ¥ alufm w8 R w2

(iv) 32 = Sher W RS shae S B (LIC) =t ve diferdlt & o = 45,000
& MR 1 sywar e 21 =@ aiferit (S Af¥r & 4,00,000) F 108.2013 T

forar = =m

(v) 8 lied feavel ot wle @ fore & 4,000 =1 s o 2, R 3 sk =7
@ ¥ e 7@ G w2

(vi) sme faw, 1962 @ IR, T wReall @ wEu ¥ wwEmE © 50,000 AUk

fomar wrar 81

(vil) 3% %1,50,000 wrdwive Wi ffer (PPF) ¥ wem e
(viii]) e Tl TEw N B forg Yaiew Ao @ wem F o R @ 2

OR

(a) During the previous year 2105-16, Renu sells the following capital assets:

Sale Price (Rs.)

Expenses on Transfer

Land

50,00,000 1%
Gold 51,00,000 Nil
Listed debentures 8,00,000 1%

Renu inherited the Land from her father who died in 2004-05. Father acquired

the land on 1.1.1980 for Rs. 50,000 and its fair market value on 1.4.1981
was Rs. 2,00,000. Renu spent Rs. 1,00,000 on the boundary wall of the
land in the previous year 2007-08.

Gold was purchased on 22.03.2014 for Rs. 48,60,000 and listed debentures
were purchased on 17.03.2010 for Rs. 3,40,000. She invested the entire
sale proceeds of gold and listed debentures in the bonds of NHAI (Tenure
5 years) within 6 months from the date of transfer. She purchased a residential

house property for Rs. 48,00,000 out of the sales proceeds of land on
31.03.2016. Cost inflation index:

1868
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1981-82 100
2004-05 480
2007-08 551
2008-09 582
2009-10 632
2014-15 1024
2015-16 1081

Compute Renu’s total income and tax liability for the assessment year 2016-17.

(11)

(=) froa g 2105-16 & <, Y] Preafaiaa g9 el @ 9 &

fawa wa (<) AN B .
;lﬁ 50,00,000 1%
T 51,00,000 ki)
Tiwe AW 8,00,000 1%

[ A T foar ¥ fma ¥ s Ben, e 2004-05 A 3 B T fer A
111980 F % 50,000 ¥ S U S T 141981 I FHH IR AR T T 2,00,000
om frat 2 2007 - 08 F 07 wifft N RS v Ffior = & forg = 1,00,000 = T

' R 17.03.2010 # %
AT 22.03.2014 T T 48,60,000 ¥ @ i a 3 ajlaa :
3,40,000 ¥ WA? T A1 I A 3R gEiwe RITY N wT Rt s R merwmm;r
B farEw @ 6 WE @ MW WA U TewE giuERe (NHAIL)
sl (5 o @ sEfy) ¥ fAm w R af @ R e A I 31032016 H &
48,00,000 ¥ FEET 5 wAA @AM

AT FETEHIT G :

1981-82 100
2004 -05 480
2007-08 551
2008 -09 582
2009-10 632
2014-15 1024
2015-16 1081

P.T.O.
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12 1868 ‘ 13
- frerfoor f 2016 - 3
2016-17 % o Yoy it A AT IR W e URee SHifem) (a) Mr. A has gifted a house property valued at Rs. 50 lakhs to his wife, Mrs.
B, who in turn has gifted the same to Mrs. C, their daughter-in-law. The
4.  (a) Explain the provisions of the Income Tax Act, 1961, with regards to clubbi house was let out at Rs. 50,000 per month throughout the year, Compute
of income of souse under Secti ’ ’ HCSRNe total income of Mr. A., Mrs. B and Mrs. C by assuming that th ir i
oniGa- A 3 ’ y g that their income
. from other sources is Rs. 5,60,000, Rs. 6,00,000 and Rs. 7 00,000
(b) EXplaln the provisi > SOy L] 2, sUY,
provisions relating to set-off and carry forward of business losses. respectively.
(c) Mr. Ankit i e .
) nkit submits the following information regarding his income for the (b) Mr. Manick is a Sales-tax officer at Jaipur. He owns two residential houses.

previous year 2015-16:
S The first house is in Delhi and was constructed on 31.12.1991. This has

been let out on a rent of Rs. 30,000 p.m. to a company for its office. The
Gto e second house is in Jaipur, which was constructed on 1.3.2015 and has been
ss salary per annum : : : . :
il ) 8,26,000 occupied by him for his own residence since then. He took a loan of
ash gift from his employer 30.000 Rs.9,00,000 on 1.8.2013 @ 8% per annum interest for the purpose of
Gift from father’s brother s construction of this house. The entire loan is outstanding.
. ,000
Agriculture Income - 3.60.000 Other Relévant particulars in respect of these houses are given below:
National Saving Certificates (NSC) purchased on 25.3.2016( 20.000 e i
Compute his taxable income and tax liability for the assessment year 2016-17 Rs. Rs.
(3+3+5) Municipal valuation 2,40,000 1,80,000
(=) ;m 64 & i Uiy W ek 9 3@ R wANT B gEy A R R, 1961 Municipal taxes 10% of Municipal value| 8% of municipal value
WA Y @R e t
il ! Expenses on repairs 20,000 60,000
(@) Eﬁﬁﬁﬁwﬁwwﬂﬁmﬁ%m%mﬁmﬁaﬁma&m. Interest on Loan < 72,000
(1) e e fee ad 2015 - et _
ki 015-16 & fore it smr & e % FfRes s Municipal Taxes of Jaipur house is unpaid.
Mr. Manick was transferred to Mumbai on 1.12.2015 where he resides in
: . a house at a monthly rent of Rs. 40,000, and his house at Jaipur was let out
wia af woe Ao $3e on on the same day on a rent of Rs. 20,000 per month.
» ' 0
o e ¥ [T IUER Compute the “income from house property” in respect of Mr. Manick for the
frer @ o @ 30,000 assessment year 2016-17. (3+8)
A 45,040 (=) T A 5 50 T A A - Halw FR TR, AR B, W IWR A A R,
3,60,000 m%mﬁﬁaaaqﬁmsﬂﬁrcaﬁmﬁ%ﬁm%msma&mt
25.3.2016 W P4 o T U w=E WO (NSC) 20.000 50,000 T e W e W far @ o, 3 Wl ¥ I T FAE E 5,60,000,

% 6,00,000 3 & 7,00,000 AFRA TY AT A, TR B A s C & e AT

- e af 2016-17 @ R I9E F@ERT- e R T - T R i qRtere Fie
o |

OR

P.T.O.
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(@) S e SR ¥ R o sfted 21 28 ot sTaria wee @ @n #) e wae
Teeeht ¥ 2 3l Iwet FAoT 31121991 e wrar o 2R v HE @ IO FEET
& forw = 30,000 st W & e W 2 far o 81 gEw e v ¥ 2, e
T 13,2015 = foran T o ol @ @ 9@ T R T P By S FT
21 waT @ i @ fw 182013 F SRR 8% W 9 W W W W ©
9,00,000 =1 =avT form &qul ot T 2

v @ Wy ¥ o wefe fe 93 Ry

YA HERTT T HET
i3 i3
TR W @ geaE | 2,40,000 1,80,000
R w5 wﬁmww#-rww% R @ET @ 8%
AT W =T * | 20,000 60,000
B e | 72,000

AR e e @ R AR R R s w8 e v 2
1122015 Y T Wfe &t Hord wniaRe fomam T o WeT 9% 40,000 T AR R

W UF TEH A T F, 79 IR R TAR R 398 s @) 20,000 €9 W WE FRT

9 IST far @ an

T Wi & o F - Pl af 2016-17 2 fie swaT @ty A T & IREFET
Calmidl

X and Y are two partners, sharing profits and losses in the ratio of 1:2. The firm

is in the business of manufacturing paints. The profit and loss account of the firm
for the year ending 31.03.2016 is as follows:

Rs. Rs.
Salary to staff 2,18,800 | Gross Profit 12,00,000
iation i 1,80,000 | Long-Term capital gain 1,40,000
Remuneration of partners: Other business receipts 1,60,000
D ¢ 3,00,000
.4 2,60,000
Interest on capital:
X 36,000
Y 25,200
Other expenses 3,70,000
| Net profit 1,10,000 .
15,00,000 15,960,000

1868 15

Additional Information:

(i) The firm completed all legal formalities to get the status of ‘firm’.

(i) The firm donated Rs. 80,000 to notified public charitable trust, which is
included in other ‘ expenses.

(ili) Salary and interest @ 12% p.a. are paid to partners as per the partnership
deed’.

(iv) Depreciation allowable under section 32 is Rs. 80,000.

Compute the taxable income of the firm and partners for the assessment year
2016-17. (11)

X3 Y, 1:2 & Siure & o 3 WeT Are e arer @ wsen 81 W e fafswin @ s
T 21 31032016 I TS B A1l 99 & o0 B w1 oW SR EIH @ 39 TR E:

<. <.

FHHIRal o JaT 2,18,800 |EHA AH 12,00,000
B 1,80,000 Srefafore Toil A 1,40,000
WRER! & WS I SR it 1,60,000
X 3,00,000
Y 2,60,000
ol W =T
X 36,000
Y 25,200
= 3,70,000
g A 1,10,000

15,00,000 15,00,000
FfERea SN

() o R i e Ry w3 R st T @ 31

(i) wd ¥ sfmRe e Y T H T 80,000 TW v €, R s =l @
Sieter afeafera forar wrm 21

PT@.
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(iii) @R =t “snfin - e’ @ ER A ok 12% wifer = &6t & & AT T S
o e 21

(iv) o/ 32 & sicrfa S qw2e™ © 80,000 21

- Fuieor af 2016-17 2 Rw v 9w a@ER 9@ FTw-99 3w = TR Fifvm
OR
(a) Write short notes on any two of the following:

(i) Difference between “tax treatment of education allowance’ and
education facility” under the Income Tax Act, 1961

(i) Expenditure on scientific research (Section 35)

(iii) Exemption of Long Term Capi i i
: pital Gains under Section 54 of
Tax Act, 1961 s,

(iv) Deduction under Section 80DD of Income Tax Act 1961, in respect
of medical treatment of disabled dependent.

(b) Explai.n the significance of the judgment delivered by The Supreme Court of
India in the case of “Shiela Kaushish vs. CIT (1981)” (3+3+5)

(=) Ffeias & % ol s @ w g Rwfwt fifae:

(i) smaer s, 1961 & siata “Fven w= =1 a5 B’ sk ¢
; e 4
99 3R SR e

(ii) s srEuR W e (Rt 35)
(iii) FrEv e, 1961 1 URT 54 B Fawta Setafer gt @ ¥ Te

(iv) s = s, 1961 T &0 80DD & Siete feren sl & Rifdrear Iw=m
F Fag ¥ w

(@) de e s srEE s (1981) a1z % wive & warew = 27 T T
fvia & wecT ot =wEn Sifsm

(8200)

.
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B & fog FEn

I 3 WET-uE @ e & eR R PR e w s sasas i

2. asht we & I AR |

3, @ity B 3w e

4 =8 TET-TF S SR a0 @ B R v s ¥ A, AT it ST o e v
£ B =y |

1. (a) Explain the System approach to Management. How is it different from

Contingency approach. 8)

(b) Who propounded the concept of ‘Bottom of the Pyramid’ to the management
“theory? Write a short note on this concept. (@)

() st % forg sl gfen <A e AR 7 SRR ST 3 R
it 21

P10,
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(=) wei frgia & g ‘fiafe = 9@ o smuwron e afafa 97 5@ saurom
W glerm femon folag
OR

(a) Explain the framework of ‘Five Force Analysis’ in detail. Also discuss its
relevance in modern times. . (8)

(b) “Management is the art of getting things done by others,” Critically analyse
this statement. @)

(@) ‘diw oo Reewor & R @ e awen Sl st wm A g
Wi @ ==

(@) “wEer 3 A SR EE @t Fell 817 T AT ol ST [
i

(a) “Today’s business world is full of challenges”. Explain this statement in the
light of trends and challenges that a manager has to face in global scenario?

(3
(b) Define the term ‘Strategic Planning.” Describe the process involved in
Strategic Planning. (@)

(&) ‘e o AEEiaE e geifeal § s gen 71’ Aftaw ufigwa ¥ weuw gW A
ot W Al wgial St A & W | g9 A @t e sty ¢
(@) ‘Towifeer QST TeE 9 SRS TGl R Aot § |Rfera wiar @i e
gl
OR

(a) Discuss the various Diversification Strategies available to a business firm to
grow and expand. (8)

(b) You are the manager of an organisation entrusted with the task of
environmental analysis and diagnosis. How will you do the SWOT analysis
of your organisation? Explain with help of an illustration. @)

(%) =mEEds v & fwRE sk fmRa o & fow Swe v Rl
i ot ==t S

(@) 9 TF W & yEuE & R wieiy e sk fem = w5 9w @ )
I AT TS 0 w4 fAzerser (SWOT analysis) o W &3t ? gar Jarser &t
HEEET ¥ HAEC

1867 3

3. (a) What do you mean by bounded rationality? Explain the various causes of
bounded rationality. (8)

(b) What is a project Organisational structure? In what types of organisation it

is suitable? @)
(@) TRag sifre ¥ orv @ e ¥7 Rae s & R woon @ e
Eain i

(@) GRATT 9 WIS W T 27 T8 6 YR @ e A Suged B 27
OR

(a) Explain the theory of Motivation as propounded by Ouchi. Discuss its
relevance in Indian context. (8)

(b) “Grapevine should-not be allowed in an organisation” Do you agree with the

statement? Give reasons in support of your answer. @)
(=) s grr wRrfee S @ R o e A TR e § waw aEREnT
w = i

(@) ““HeT ¥ weraeen wed (v Teet) i srgaa € @ e A’ =" s
= U A GeAd £7 FUY SR @ W F HRO A

4. Compare and contrast any three of the following:

@) Scientific management and Administrative management

(i) Delegation and Decentralisation

(i) Transformational and Transactional Leadership

{iv) PERT and CPM (5%3)
P X ¥ el A 9 g BT T SR T

(i) Sl waer SR Sl wEe

(i) S T R

(iv) =risa AT S eiten qew (PERT) 3R wifves oo fafer (CPM)

PT0;
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OR

(a) Discuss the various ‘On the Job® methods of training
g.

(b) What a i i
) re the barriers to effective communication that a manager faces?

)

(=) ‘quﬁr&w’aﬁﬁﬁiﬁﬁﬁq‘faﬁﬂﬁaﬁﬁm
(@) mmmﬁﬁﬁMWﬁmwﬁ?

Write short notes on any three of the following:
(a) Group Decision Making

(b) Coordination as the Essence of Management
() Managerial Grid

(d) Extrinsic Motivation
Frafoftes % 3 sl 7w oy Rewfrt o

(a) wmiE Fiofa fefon

(5%3)

(b) W& #1 AR -
(c) veerel fie
(d) e Srom

OR

a EX Ialn the tf:I]]l COI[tIOlllIl by HXCC[)thIl’ VV hat are t]le beﬂeilts ()t thls
g 3
[ll lllclple. (8)

(b) What do understand by the term
controlling and how is it different from ‘Market Value Added.’ (7)

(%) ‘svae ww g’ v o wrer Sk @ foera & = o #7
(@) T =it snfefer I ware (Economic Value Added) deriier & 9 =/ T

® U 75 WO T WA (Market Value Added) T ¥ fFa yr ey 27

(8200)

@)

‘Economic Value Added® technique of

Oi//zj)g(m)
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i » fow Fdw

I @ - S e # ew Ry e FuiRe e w O SR oIl |

2wt wEt B IR A

3 sam—qaanmaﬁsﬁm%ﬁﬁr@t@wﬁﬁﬁw,%ﬁwm&wﬁmww

& B =ET |

?

(a) Whatis E-Commerce? What are the essential features of E-Commerce
™
(b) Explain various stages in identifying an online business opportunity. (8)
() §-wid war 37 € @l e R = g7

(@) SiiFerET SR B SR Y T W i R ol @ e ¥ e

OR
PTO.
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(a) Explain the key strategic factors in analyzing the economic viability of an
online firm. (7
(b) What are the advantages and limitations of E-Commerce? (8)

() dAerET B A e aEERa @ Rwewe w ¥ weeg Rl SR @
=wE i '

(@) $-=Fe & wEe s dag = &7

Discuss the various internet security threats for E-Commerce environment?(15)
E-Td & TR B oy AR et wer @R W s @i
OR

What are the technological solutions available for protection against security threats
in E-Commerce? (15)

- ¥ e W@ B e wew @ R Ieemr gee T g 27

What are the methods of E-Payment? Explain in detail any three of them. (15)
- & T o §7 RER A TR A B @ @ e A wwm

OR

‘What is a Payment Gateway? Explain the steps involved in the working of payment
gateway. What are the advantages and limitations of Payment Gateway? (15)

i e T 27 e T o S R = s e G @
3R GG == 27

(a) What is the meaning and objectives of online business transation? What are
the advantages and limitations of transacting online? (10)

1868-A 3
(b) Explain B2B E-business model. 5)

(%) ST fsma gofes @ o ok 32w 27 SiemsT AR T B W
3 dme = &

(@) B2BE-=mR ¥iset & day ¥ WA
OR

What are the e-commerce applications? Explain any two applications in detail.

(15)
- & Txieed w1 37 Rwr ¥ 6 @ velieee @ ey X wEm

5. What are the objecitives of Information Technology Act 2000? Explain the
procedure of creating digital signatures. (15)

T AR s 2000 @ IR w ¥7 Ritew swer w9 wiea SR
OR

Write short notes on any three of the following in respect of HTML:

(a) Hypertext links

(b) Different types of Unordered and Ordered list

(c) Inserting an Image in a web page

(d) Frames

(e) Character entities (5x3=15)

wadeeE & way § el § @ 5 @ w At o o

(=) ewdaw o

PTO:
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(w) fafte wer o Rl ok arfia =@
() ¥ s ¥ sfa s
(%) ¥

(¥) @R vé@dw

(3500

[This question paper contains 4 printed pages.]
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Unique Paper Code 1 22411301 -
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Instructions for Candidates / ®= & forg fFdm

Write your Roll No. on the top immediately on receipt of this question paper.

0 w-va & fie @ e Ry w FuiRe e w® s s fifae

1. (a)

(b)

(@)

(b)

(%)

(=)

Define HRM and explain the strategic role of HRM In the 21* century.
e - ®

What do you mean by workforce diversity ? Why is it posing as a challenge
to various organisations ? (7)

Or

Discuss the main functions, duties and responsibilities of a human resource
manager in a modern organisation. ®)

‘Downsizing is a planned elimination of positions in an organisation.” Critically
examine this statement. 7)

HRM &t 9femwr dfe i 2@l st ¥ HRM & wriifees sifirer =t samen
@I |

wead fAfum ¥ s w TR € 7w wRe © fF ae Rt e @ R
AR WS el © 7

/1 6



1866

2

() ¥ wEer weeE S o ¥ e s, w9l 9k SeRaie @

fagwmT =W |

(@) mﬁmﬁmﬁﬁmﬁmwﬁ%m%n"sﬂwaﬁ

2. (a)
(®)

(@)

(b)

A Wi I |

Define HR policies and discuss their nature and importance. ®)

Critically examine the evolution of HRM in India. @
Or

What are the important aspects of Human Resource Planning ? Explain.
®)

What is Job Analysis ? Describe the process involved in conducting a job
analysis. 7)

(%) HR i@l A aiere AR ok 7 wew ik wew 9t e ik |
(@) 9"a ¥ HRM & fashma & smelmenes s <6 |

 FrerEr

() A G FEGT e Use T 2 7 I A T |

(=) ﬁmﬁaﬁwaﬂraﬁ%?aﬁaﬁﬁwmﬁ%mu&mmaﬂhaﬂml

(2)

(®)

(@)

Briefly explain the significance of providing training to employees.
What criteria would you use to evaluate the effectiveness of a training

programme ? (8)
Differentiate between performance appraisal and job evaluation. Briefly discuss
any two methods of performance appraisal. (@)

Or

What is management development ? Describe any four important techniques
of management development. ®)

e
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3

(b) What do you understand by fringe benefits ? What types of fringe benefits

can a company provide for it’s employees ? 7
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wwa&ﬂwwugm!ﬁm%ﬁ_ﬁﬁﬁaﬁmmﬁmm%?

(ﬁ)ﬁﬂﬁ#ﬂﬂfﬂﬁaﬂraﬁwﬁmmmﬁmmwwﬁﬁﬁﬁ

faferdi = Ga A fad= i 4

Jadl

(m)mﬁmawﬁw%?mﬁmaﬁﬁwﬁmmﬁaﬁaﬁﬂaﬁw

Bl

| (@) R A & S A § 7 U IO FTEIRA) W R WK & SIS

(b)

(@

(b)

WS FR el B 7

What should be the basis of promotion — merit or seniority ? Elaborate.

®)
The need for employee counselling in industry arises due to the problem of
conflict, frustration and stress. Enumerate. @)

Or

Explain base compensation and supplementary compensation. What is the

8
difference between the two ? ®)

Why is employee counselling required 9 State the various types of counselling
used in an organisation to deal with problems of employees. Eh)

(E)qﬁmmwmw:gmmaﬁw?ﬁm%mm
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: Sr.No. of Question Paper : 2064 GC-3 Your Roll No................
(W) e e S ST o @ ? FARA o TG o Gorem = Fore wwsT
A e e wor & wEEl @1 v B ety S | Unique Paper Code 1 32351301
Name of the Paper : C5 Theory of Real Functions
| | : i
5. (a) What do you mean by labour welfare ? Bring out the need for providing Name of the Course . : B.Sc. (Hons.) Mathematics — C.B.C.S.
welfare facilities to workers. (8) :
. . : ’ o i t 3
(b) Define social security. Explain it’s scope and importance in Indian " . :
industry. €) Duration : 3 Hours Maximum Marks : 75
Or
. Instructions for Candidates
Write short notes on any three of the following :— (5%3)

(a) HRIS 1. Write your Roll No. on the top immediately on the receipt of this question paper.

(b) Employee Stock Option Plan 2. All questions are compulsory.

(c) Retention 3. Attempt any three parts from each question.
(d) HR audit

(e) Empowerment
2—x+1

() siffer e ¥ g war 9w & 7 sfe T FETER g 3 2 1. (a) Use the E—3 definition of limit of a function to find lg} X—x-l—l_ )
h T AT |
. (b) State Sequential Criterion for Limits. Using Sequential Criterion for limits,
(@) wrfors geem =t aRww A | e B IA ¥ Ta - A ok e @
4 . prove that Iirrg Sini2 does not exist. . (5)
e X
T=qdr
X & W w A fReoafowt feifag - (c) State Squeeze Theorem. Use the theorem to show that ixl_lg % =1. (5)
(%) HRIS
’ (d) Let f be defined on AcR to R and let ¢ be a cluster point of A. If
(&) == i st der
lim f >0, then show that there exists a neighbourhood V(c) of ¢ such that
ki) gﬁ'{m X3¢
) f(x)>0forallx € AN V), x#c. %)
() HR SrEmden
) aErERiehr
=) PILO:
(8200)
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2. {(a)
(®)
©
(@

3. (a)
(b)

2

Let £ be defined on A c R to R and let ¢ be a cluster point of A M (c,)

and A N (—o,c). Then show that lim f(x)=L exists if and only if

N H)=1 =1 ®
Prove that )
@ lim =0
(i) lim iz = ®)
x>0 x

Let g: R = R be defined by

x, for x rational

g(x) ={

0, for x irrational

Find all the points at which g is continuous. %)

Determine the points of continuity of the function f(x) = |[x]], x € R, where
|[x] denotes the greatest integer n € Z such that n <x. (5)
LetA,BcR.Letf: A— R and g : B — R be functions such that f(A) c B.

If f is continuous at ¢ € A and g is continuous at b = f(c) € B then show that

the composite function gof : A — R is continuous at ¢. )

Let f, g be continuous from R to R and suppose that f{r) = g(r) for all
rational numbers r. Show that f(x) = g(x) for all x € R. )

I

2064

5

©)

@

(@)

(b)
©

(d

@

(b)

3

Let f be a continuous real valued function defined on [a,b]. By
assuming that f is a bounded function, show that f attains its maximum value
on [a, b]. 5)

Suppose that f is continuous on {0,2] and that f(0) = f(2). Prove that there
exist x, y in [0,2] such that [y — x| = 1 and f(x) = f(y). (%)

Let I be a closed and bounded interval and let f: I = R be continuous on

I. Then prove that f is uniformly continuous on I. %)
Show that the function f(x) = x? is not uniformly continuous on R. )
State and prove Caratheodory’s Theorem. %)

Let f: R = R be defined by

x?, for x rational
f(x)= =
0 , for x irrational

Show that, fis differentiate at x = 0 and find £'(0). ®)

Let f be continuous on [a,b] and differentiable on (a,b). Prove that if
f(x) < 0 Vx € [a,b], then fis strictly decreasing on [a,b]. Is the converse
true ? Justify. (5)

Let g: [-1,1] — R be defined by

2, V<x=1
g(x) =10, x=0
1, -1<x<0
Show that g is not the derivative on [-1,1] of any function. 5)

P 10.
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d

4

Find the Taylor series for sin x and indicate why it converges to
sinx Vx € R. (5)

Define a convex function on [a,b]. Show that the function f(x) = [x],

x € [-1,1] is convex but not differentiable on [-1,1]. %)

(2000)
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Sr.No. of Question Paper : 2065 GC-3 Your Roll No................
Unique Paper Code 1 32351302

Name of the Paper : C6 Group Theory 1

Name of the Course : B.Sc. (Hons) Mathematics — CBCS

Semester : IX )

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on the receipt of this question paper.

2. Attempt any two parts from each question.

3. All questions are compulsory.

(®)

(c)

Describe the elements of the dihedral group D, and show that they form

a group under composition of mappings. (6)

Prove that if H and K are subgroups of G, then so is HNK. Is HUK
a subgroup of G ? Justify your answer. (6)

Define Centralizer C(G) of a group G. Is C(G) Abelian ? Justify your

answer. (6)

Let G= (a) be a cyclic group of order n. Show that G= <a"> if and only
if ged(k,n) = 1. (6)

PTO.
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(b)

(c)

3. (a)
(b)
(c)
4. (a)
(b)

2

List the subgroups of Z,, and their generators. (6)
(i) Let G be an Abelian group with identity e. Prove that

H={xeGﬁ2=ﬁisammym§ofG (3)

(ii) Let a and b be elellnents of a grod[.)...lf|a| =10 and [b| = 21, show

that (a)n(b)={e}. . (3)

Prove that every permutation on a finite set can be written as a cycle or

product of disjoint cycles. (6)

Prove that the set of even permutations in S, forms a subgroup of

s (6)

1 2 3 4% 5 6 7 8 1L 2 3 45 6 7 8
Let Gi= and P =

2135476 8 1387652 4

Write o and 8 as
(i) products of disjoint cycles.

(ii) products of 2 —cycles. (6)

Prove that any finite cyclic group of order n is isomorphic to Z_and any

infinite cyclic group is isomorphic to Z. (6'%4)

Let G denote the left regular representation of the group G (as defined

in Cayley’s Theorem). Calculate U(12). (6%)

2065
(c)

5. (a)

(b)

(c)

6. (a)

(b)

3

Give statements only, of Lagrange’s Theorem and its converse. Is the

converse true ? Justify your answer. (6)2)

Let H and K be subgroups of a finite group G. Prove that

_ [mlix|
MM—Mmm (6%)
Let G be a finite Abelian group and let p be a prime number

that divides the order of G. Prove that G has an element of order
p- (6'%)

Let ¢ be a homomorphism from a group G to a group G and let H be
a subgroup of G. Prove that

(1) if H is cyclic, then @(H) is cyclic. 2)
(i) if H is Abelian, then @(H) is Abelian. (2)
(iii) if H is normal in G, then ¢(H) is normal in @(G). (2'%)

State and prove The Second Isomorphism Theorem. (6%)
Let G be a subgroup of some dihedral group. For each x in G,

define

+1 if x is a rotation

e

if x is a reflection

2TO.
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4

Prove that ¢ is a homomorphism from G to the multiplicative group

{+1,—1}. What is the kernel of ¢ ?

(c) Determine all homomorphisms from Z;, to Z,,.

(62)

(6%)

(2000)
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Sr.No. of Question Paper : 2066 GC-3 Your Roll No.....cccceenneen

Unique Paper Code 1 32351303

Name of the Paper : C-7 Multivariate Calculus (Including Practicals)

Name of the Course : B.Sc. (Hons.) Mathematics — II — C.B.C.S.
~.Semester : II-I-J

Duration : 3 H(;urs Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on the receipt of this question paper.
2. All sections are compulsory.
3. Attempt any five questions from each section.

4.  All questions carry equal marks.

SECTION I

1. Show that f is continuous at (0, 0) where

ysinl/x x#0

f(y,) = {0

x=0

2. A closed box is found to have length 2 ft, width 4 ft and height 3 ft, where the
measurement of each dimension is made with a maximum possible error
of + 0.02ft. The top of the box is made from material that costs § 2/ft?; and the
material for the sides and bottom costs only $§ 1.50/ft2. What is the maximum

error involved in the computation of the cost of the box ?

PIO.
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3

10.

If z = f(u — v, v—u), show that

0z 02 _
du Ov

Suppose at point P (-1, 2), a certain function f(x, y) has directional derivative
8 in the direction of v, = 3i — 4j and 1 in the direction of v, =12i + 5j. What
is the dlrectlonal denvatlve of fat P in the dlrectlon ofv=3i—-5j?

Find the absolute extrema of f(x, y) = Xy — 2x — 5y on the closed bounded set
S where § is the triangular region with vertices (0, 0), (7, 0) and (7, 7).

Find the point of intersection of the plane x + 2y +z =10 and the paraboloid
z = x? + y*that is closest to the origin. You may assume that such a point
exists.

SECTION II

Compute H P ———dA | where R is the rectangle 1 <x<3,1<y<2.

1 /4
Evaluate the integral f _[ secx dxdy .

0 wnly
Evaluate H -lvdA, where D is the region that lies inside the circle r = 3cosB and
X
D
outside the cardioid r = 1 + cosb.

Find the volume V of the solid, using spherical coordinates, bounded by the

sphere (x—l)2 +(y—2)2 + (2—3)2 =4

2066 3

11. Find the volume of the solid D where D is the intersection of the solid sphere
x* + y? + z2 < 9 and the solid cylinder x* + 0

12. Evaluate H e—(4xz+sy2)dA, using change of variable, where D is the elliptical
& .

disk __+_y_ <lI.
5 4

SECTION III

13. Let F(x, y) = i + xe¥j. Verify that the vector field F is conservative on the entire
xy-plane. Use a potential function of F to find the work done by the field F on
a particle that moves in anticlockwise direction from (1, 0) to (-1, 0) along the
semi-circular path

y=+1-x*; -1<x<1.

14. State Green’s theorem for simply connected regions. Verify Green’s theorem
for the field F(x, y) = (x —y)i + xj and the region R bounded by the unit circle
C: r(t) = cos ti + sin tj; 0 <t<2w.

15. Let E be the solid bounded by the xy-plane and the paraboloid z =4 —x*— y2.
Let S be the boundary of E (that is, piece of the paraboloid and a disk in the
xy-plane), oriented with the outward-pointing normal n.

If F(x,y,z) = (xz sin(yz) + x})i + cos(yz)j + (3zy? — exzi‘yz)k'

Find ” F.n ds over the surface S using divergence theorem.

16. Evaluate ﬂ(x +y+z) ds over the surface S defined parametrically by

R(u, v) = (2u+v)i + (u—-2v)j + (u+3v)k for0<u<1; 0=v<2,

RO
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17. State and prove the Stokes’ theorem.
18. State fundamental theorem of line integrals. If a semi-circular wire has the equation

y =+/25—-x* and its mass density function is y(x, y) = 15 —y. Find the mass of
the wire.

(2000)
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Sr.No. of Question Paper : 2066 GC-3 Your Roll No...ccoecereenne
Unique Paper Code : 32351303

Name of the Paper . C-7 Multivariate Calculus (Including Practicals)

Name of the Course : B.Sc. (Hons.) Mathematics — II — C.B.C.S.
Semester a1l

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

Al A

1. Write your Roll No. on the top immediately on the receipt of this question paper.
2. All sections are compulsory.
3. Attempt any five questions from each section.

4. Al questions carry equal marks.

SECTION I

1. Show that f is continuous at (0, 0) where

ysinl/x x#0

ty) = {0 x=0

2. A closed box is found to have length 2 ft, width 4 ft and height 3 ft, where the
measurement of each dimension is made with a maximum possible error
of + 0.02ft. The top of the box is made from material that costs $ 2/ft% and the
material for the sides and bottom costs only $ 1.50/ft2. What is the maximum

error involved in the computation of the cost of the box ?

P.T.O.
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3.

10.

If z = f(u — v, v—u), show that

0z Oz
—— =
ou 0ov

Suppose at point P,(-1, 2), a certain function f(x, y) has directional derivative
8 in the direction of v, = 3i — 4j and 1 in the direction of V=121 + 5j. What
is the directional derivative of f at P, in the direction of v = 3i — 5j 2

Find the absolute extrema of f(x, y) = Xy — 2x — Sy on the closed bounded set
S where S is the triangular region with vertices (0, 0), (7, 0) and (7, 7).

Find the point of intersection of the plane x + 2y + z = 10 and the paraboloid

z = x* + y?that is closest to the origin. You may assume that such a point
exists.

SECTION II

Xy ;
Compute J] x_z-l-_TdA » Where R is the rectangle 1 <x<3, 1 <y<2.
R ¥

L/
Evaluate the integral I j. secx dxdy-.,
—1

0 tanly

1 : :
Evaluate ﬂ ;dA » where D is the region that lies inside the circle r = 3cos® and
D

outside the cardioid r = 1 + cos0.

Find the volume V of the solid, using spherical coordinates, bounded by the

sphere (x—l)2 +(y-2) +(z-3)" =1.

2066 3

11;

12,

13.

14.

135,

16.

Find the volume of the solid D where D is the intersection of the solid sphere
x2 4+ y* + 72 < 9 and the solid cylinder x> + y* < 1.

Evaluate H e 4xz“wz)dA , using change of variable, where D is the elliptical
D

2 2
disk 2 +¥ <1.
5 4

SECTION III

Let F(x, y) = e*i + xeYj. Verify that the vector field F is conservative on the entire
xy-plane. Use a potential function of F to find the work done by the field F on
a particle that moves in anticlockwise direction from (1, 0) to (-1, 0) along the

semi-circular path

y=+1-x"; —-1<x<1.

State Green’s theorem for simply connected regions. Verify Green’s theorem
for the field F(x, y) = (x — y)i + xj and the region R bounded by the unit circle
C: r(t) = cos ti + sin tj; 0<t<2m.

Let E be the solid bounded by the xy-plane and the paraboloid z = 4 — x>~ y™.
Let S be the boundary of E (that is, piece of the paraboloid and a disk in the
xy-plane), oriented with the outward-pointing normal n.

- If B(x,y,2) = (xz sin(yz) + x%)i + cos(yz)j + (3zy* — e**)k.

Find ﬂ F.n ds over the surface S using divergence theorem.

Evaluate H(x +y+z) ds over the surface S defined parametrically by

R(u,v) = Qu+v)i+ u-2v)j+ (u+3v)k for0susl; 0sv<2.

B.LO;
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17. State and prove the Stokes’ theorem.

18. State fundamental theorem of line integrals. If a semi-circular wire has the equation

y =+25-x* and its mass density function is W(x, y) = 15 —y. Find the mass of

the wire.

(2000)
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jiePaper Code . 32353301 GC-3

.,:CPaper : Latex and HTML

gofthe Course : B.Sc. (Hons.) Mathematics——.—CBCS : Skill Enhancement Course
‘ I ' 2

2Hours ; : Maximum Marks : 50
(Write your Roll No. oﬁ the top immediafély on receipt of this question p-aper.)‘
All questions afe compulsory.
Fill in the blanks : _ | 5x1=5
() InLaTeX, items can be listed USING ...cccoovrnrrisrsssssnnnien environment.
Line breaks in a LaTeX document are produced by .....ccooocvveiiiiiiiinnnns . command.
| R, command is used to giﬁve comments in a latex document. -

e N o command is used to draw a circle with center (x, ) and radius
. attribute of the img tag in HTML is used to specify the source

Answer any eight parts from the following : - 8x2%=20

1

. : . f a+.b )3
(i) Give the command in LaTeX to obtain the expression i s
i i X y

P.T.O.
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@) Write the difference between the commands lvdofs and \ddots.
(iii) Wrife the output of the command :

‘S\frac{d} {dx}\left(\int_{0}~ {x}f(t)\, dt\right) = f(x)$.

(iv) What is wroﬁg with the following HTML construction :

<p> This is <stro‘ng>i <em> bold and italics </p> </em> </strong>.

(v) Give any three attributes of the font tag in HTML.
(vi) What is wrong with the following input :
<p> Also checkout the

<a href = http://www.du.ac.in/> University of Delhi </a> </p>

n
(vit) Write a code in LaTeX for typesetting lim [1 + lj =e.
: : n

n—yco

(viii) Write a LaTeX code to produce $\mathbb R$ in the output.

(ix) Write the command in LaTeX to generate the expression P

(x) What is the outpuf of the command \psarc(1, 1) {2} {0} {70} in pstricks. -

. Answer any five questions from the following :

() Write the code in LaTeX to plot the curves y = \/)_c and y = x2 on the s

coordinate. Show the square root function as a dotted curve and the squate functi

as a dashed curve.

5x5=

’

(4

2136

(i) Find the errors in the following LaTeX source, write a corrected 'version and write

its output :
\Docmnentt;,lass {article}
‘\usepacka‘ge{émsmaﬁ]}
\begin {document}
We have following options
\begin{itemize} ‘
\item $$x\ge v$
item $x\le y$
\item x¥y

\end{ documenf}

(i) Write a code in LaTeX for type'setting the following expression :

A8 =2
ok gt o
3 4 3+dab

a*b?>  ab a%b?

() Write a code in LaTeX to typeset the following :

A system of linear equations in 3 variables X1, X5 and x5 can be represented as :

a ap A3 || % 2
a1 Ay Ay || % |=|3
Gy Gy Gy X ) A4

P.T.O.
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(v) Write LaTeX code in beamer to prepare the following presentation :
, ' Slide 1

=< MyPresentation - =

XYz

November 2, 2016

Presentatio

Slide 2

Pythagoras Theorem

In a right angled triangle the square of the Hypotenuse is equal
to the sum of the squares of the perpendicular and base.

(5)
Slide 3

Example . p s SO
This is a right angled triangle in which 5" = 4" + 3

My Presentation | November 2,2016 | 34

Slide 4

Thank You

- My Presentation = | November2 2016 4/4

2136

P.T.O.
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(6)

(vi) Write an HTML code to generate the following web page :

'University of Delhi

Colleges of Delhi University offering BBA/B
‘ : BE :
undergraduate level g /BFIA programmes at the

*  North Campus
1. Shivaji College

(a) BMS

(b) BBA

2. DDU College
(@) BBE -
(b) BMS
. South Campus
1._ Garéi College
(a) BFIA
(b) BBE

Keep the following in mind while writing the code :
() Font face for the text should be Arial.
(i) Text color of the main heading should be blue.

. (ii)) Rest of the text should bé in purple.

<&

!
2136
f [This question paper contains 4 printed pages.]
: 1‘ Sr. No. of Question Paper : 2077 " GC-3 Your Roll No.....ccoovasnnes
\
| Unique Paper Code : 32371302
h Name of the Paper - Survey Sampling & Indian Official Statistics
T' Name of the Course : B.Sc. (H) Statistics (CBCS)
Semester : I
Duration : 3 Hours ' Maximum Marks : 75
! .
Instructions for Candidates
1. Write your Roll No. on the top immcdiatgly on the receipt of this question paper.
2. Attempt Six questions in all, selecting three from each Section.
|
| "SECTION -1
4
|
- 1. (a) Discuss the basic principles of sample survey. What are the main steps
q involved in a sample survey.
(b) A simple random sample of sizen=n, +n, with mean ¥, is drawn from
| a finite population of size N by srswor. Further, a simple random sub-sample
of size n, is drawn from it by srswor with mean ¥,, show that
. 1 .l
) v§, -7, =| —+— |8’
@ v(¥-%) (“1 n;]
el
i) v(¥,-y)=|—+—|8*
@ v(F-Y) (nl n)'
@) cov(y,%,-¥,) =0
2,200

PT.O.
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2077

(a) Ifthe coefficient of variations of y and x are e

2

where, S? is the population mean

square and Yy, is the ini
: _ 5 mean of remai
(n— n,) units. ' o

(6%,6)

qual, then prove that, under

first approximation, (The notations have their usual meaning)

R 11 :
MSE, | —= |=2] Z__ B
. '(RNJ 2(n N)Czﬂ—p)tZBll(R"].
N

(b) Establish the results which justify the following statement

1 ﬂIClenC 0 clustel saj Increases as mean s uare Wlthln ClllStClS
1 If Cl
( ) usteis are fOll'I'lCd Of l‘al‘ld()m Samples Of elclneﬂts Of pOpulatlon

they WIH on an av c€rage be as efflCleﬂt as
g >
) . the lndlvldual elemellts

( /275)

a A . » o
(a) sample of size n is drawn from a population having N units by simple

denote the mean based on n, units and '?2
units.

(i) Show that E('yw) =

(i) Find the optimal value of w for v}hich Vv('S'

ra i i
ndom sampling without replacement. A sub-sample of ni units is drawn

from the n units by simple random sampling without replacément Let y,
2 1

be the mean based on (n-n,)

Consider the estimator of the population mean Y, given by :
S N =

yw = wy—l + (l-w)-yz .
¥,» and obtain its variance,

+) is minimum.

(iii) Find the optimal estimator and its variance.

2077
(b)
4. (a)
()
5. (a)
(b)
6. (a
(b)
©

3

Defiﬁe two-stage sampling. In two-stage sampling with equal first stage
units prove that the sample mean is an unbiased estimator of population
mean. " (7'4,5)

Find the variance of an estimator of population mean based on cluster sampling
in terms of intra-class correlation coefficient between the elements of a cluster.
Hence, prove that the increase in the size of the cluster usually leads to a

substantial increase in the sampling variance.

Describe the method of determining the sample size in case of simple random
sampling so as to meet the desired margin of error and confidence coefficient,

stating the assumptions made. (7'4,5)

SECTION - II

State the practical difficulties in adopting Neyman’s method of allocation of
a sample to different strata. How muph would the variance increase, on an
average, if the allocation is based on the estimates of strata mean squares ?

Also, compare it with proportional allocation.

Prove that, in the presence of a linear trend, the variance of a stratified

l .
sample is only ;th of the variance of a systematic sample and the latter is

1
also approximately -I-l'th the variance of a random sample. (7'%4,5)

Discuss briefly about the statistical wing, MOS & PI and its functions.

What is primary and secondary data ? Mention two methods each of collecting
primary and secondary data.

What is the background and objectives of COCSSO ? (5%,4,3)

PT.O.
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(a)

(®

(@

(®

©

4
Show that a systematic sample has the same precision as the corresponding

stratified random sample with one unit per stratum if P, = 0, the notation
has its usual meaning,

If there are two strata and if @ is the ratio of actual — to the Neyman
e o n,

! o, e T UL . .
optimum allocation —-, show that whatever be the values of N, N,, S, and
o, .

V(¥ . '
S,, the ratio —(;_')“l‘“— is never less than 4¢(1 + @), where f.p.c.’s are
V(3.) ;

negligible. (6,6%)

Mention two recommendations each relating to the functionii)g of NSSO by
the Commission regarding (i) organizational aspects and (i) survey programme.

Write short notes on the following : ‘
(i) Functions of CSO
(i) Determinants of quality of statistics
Explain the concept of post stratification. Prove that post-stratification, with

a large sample, is almost as efficient as stratified sampling with proportional
allocation. ' (3,4,5%)

(700)
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Sr. No. of Question Paper : 2076 GC-3 Your Rell Ne................
Unique PaperCode : 32371301

Name of the Paper : Sampling Di_stribution

Name of the Course : B.Sc. (H) STATISTICS ~ CBCS

Semester A: 1

Durationl: 3 Hours

Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on the receipt of this question paper.

2. Question No. 1 is compulsory.

3. Attempt Six questions in all by selecting at least two questions from each Section.

(a)

®)

{©)

{d)

. 1. Attempt any five parts :

Define convergence in probability and convergence with probability one and
state their relations.

Let X, X,,...,X, be a random sample of size n from a uniform population
with p.d.f.

1, if0<x<1
0, otherwise -

f(x) ={

Obtain the pdf of X(r).

Discuss null hypothesis, critical region and level of significance with examples.

If X ~y2; then prove that «]5 is a N(0,1) variate for large n.

PTO:
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(@
()
®

2. (a)
(b)

3. (a)
(®)

4. (a

2

If the variable t has Student’s distribution with 2 degrees of freedom, then

find P(—«/Estsx/f).

Let X, and X, be independent random variables with density law f(x) = &7,
x 2 0, then show that Z = X /X, has F-distribution.

If X ~ U[0,1], then show that —2 logX ~ y 2. (5%3)
Section A

Let g(x) be a non-negative function of a r.v. X. Then show that for every
k>0, we have

P(g(x) 2 k) < E(g(x))/k.

Hence, obtain Chebychev’s inequality. Use it to prove that in 2000 throws
of a coin the probability that the number of heads lies between 900 and
1100 is at least 19/20.

Let X, X,,....X, beiid random variables and S =X, + X, + ... + X . Obtain
the limiting distribution of §, when n tends to co. (6,6)

Let {X } be a sequence of mutually independent random variables such that

-n

X ==+l with probability and X =42 with probability 2™

Examine whether the weak law of large numbers can be applied to the
sequence {X }.

Show that in odd samples of size n from U[0, 1] population, the mean
and variance of the distribution of median are % and 1/[4(n+2)]

respectively. (6,6)

Discuss the test of significance for the difference of two means for large

sample sizes. Also obtain the confidence interval for it.

2076 3

(b) Explain the term ‘standard error and sampling distribution’. Show that in a
series of n independent Bernoulli trials with constant probability of success
P, the standard error of the proportion of success

is 1'PQD . where Q= 1-P. 7 (6,6)

Section B

5. (a) IfX, X s-»X are independent random variables with continuaus distribution
functions E By F_ respectively, then show that

—2log [F,(x)F,(x,)...F (x )] ~ i

1 5 n-2
b - 5 =
(b) Le P, 2%1_(%) f0w2e dw, x>0. Show that x<1

(c) For the t- distribution with n d.f., prove that

_n(2r-1)
Mo = Wum, n>2r, (4,4,4)

6. (a) Prove that ns%c? is distributed as chi-square with (n-1) d.f. where s?

and c* are the variances of sample (of size n) and the population
respectively.

(b) Define F-distribution. For F-distribution with n,, n, d.f. show that the mean
is independent of n, and mode lies between 0 and 1. (6,6)

Lo(a) IfX~,

m.

, then show that U = . B;(EE)-

P.I.0;
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(b)

8. (a)
(b)
©

4

If X and S? be the usual sample mean and sample variance based on a

X =
random sample of n observations from N(p, %) and if T = S/—J_:L’ then

prove that

i=1

* What is a contingency table ? Describe how the ¥? distribution may be used

to test whether the two attributes are independent.

Let x, X,,..., X, be independent observations from the normal universe with

mean p and variance 62 and let X and s? be the sample mean and sum of
the squares of the deviations from the mean respectively. Let x’ be one more
observation independent of previous ones. Obtain the distribution of

= x' —% ’n(n—l) ‘
s n+l

Prove that if X~F and Y~F_,then for every a>0, P(X < a) + P(Y < 1/a) =1.
4,4.4)

(700)
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_i.fcre"cén converge to more than one limit.
(d) As_suhiing that n% — 1 as n > ®, Show by épplying Cauchy’s n® root test
that the series. 2 ( —1) converges.

(e) Give{ihé'.g’bdtﬂétrical interpretation of Lagrange’s Mean Value Theorem.
' . (2x5)

set of rational h‘v.-iiﬁjBer"s is not order complete.

] rhood of a point. IfM and N are ne - bourhoods of a point
] prove that MANNisalsoa nelghbourhood of p. (6,6)

3. (a) Prove ‘that hmn—»m( l) exists and lies between 2 and 3.
i n

(6,6)
* for convergence for all positive values

'(B) Let be the functlon defined on [0, I] by settmg

f(x) = 7‘_.. > when n=0,1,2:3,....

FSXS-Z_"’
£0) = 0

¥ has two distinct roots in {O 1]

((b) Obtain Maclaurin’s series expansion of e. (6,6)

(2) Obtain Lagrange’s interpolati

2078 o

Section — II

(@) Ifu be a function whosel diffcrences when the inc
denoted by 8u,, o T s and AT
n, then what is the relatmn betwsaen é-and A

X is unity ar

(b) What is the value of A* f(x')-»?,.where f(x) =x3+4x2+3 " 3‘7} :

(c) Represent f(x) = x? + 4x? in:fer‘_thr;s"of factorial-_p_dl;g&'

(d) State properties of Cote’s numbers.

--.i;, whére;:S 'ils‘ a central

(a) Show that
Yy S Hddyy +6Ay W -iQA?’fy_l,. as far aSE

(b) Find the relation betwecn o, ﬁ ¥ in order th
express1ble in one term in th__, factorlal notatlon. .

(c) Show that

i G R :
el 2“,ugﬂ+ 5 2211._2.',-1_2‘-_-»:-\-_-»‘.-'-+(—.2) U=

where =ant bx ot

formula in the forn

where L(.x)“‘:.r



(6,6)

(6,6)

(700)
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{b) {i) Give an-exampleof ase{éoﬂaerﬂzanR and «
of each of its points. '

(i) Give an example of a closed set which is
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= sequence can converge to more than one limit.

(d) Assuming that n% — 1 as n >, Show by épplying Cauchy’s n™ root test

that the series Z ( —I) converges.

- (e) Giveithe geometrical interpretation of Lagrange’s Mean Value Theorem,

(2x5)

t"the set of rational numbers is not order complctc

elghbourhood of a point. IfM and N are

efi nelg’hbourhoods of a point
p, then prove that M A\ N i

is also a neighbourhood of p. (6,6)

3. (a) Prove that lim, (14—1] exists and lies between 2 and 3.
: n

at eﬁ-ej‘f Cauchy. sequence is bounded. (6,6)

*» for convergence for all positive values

(b) Let ffbl‘el‘the function defined on [O;l_i by setting

f(x)"?z:, when 1<x<i n=0,l,2,3,....

2n+l = on 4
£(0) = 0
I 1 1
tinuity of the function at the points X= 70 2—2,'-',2—,,,1

there is no real number k forw lch the equation x}=3x+k=0
has two dlstinct roots in {0, 1].

(b) Obtain Maclaurin’s series expansion of e*, (6,6)

2078

(b)
(©)

(d)

(e)

(®)

(©)

3

Section — II

If u_be a function whose dlfferences when the mcrcment of X is unity are” =
denoted by du 8%, .o s and Au A
n, then what is the relation betwaen 3 and A.

when the;

What is the value of A*f(x) ?,.where f(x) = x* +4x*+3.
Represent f(x) = x* + 4x? in terms of factorial .poftg’;ionis; ey

State properties of Cote’s numbers.

152 +5 (1_,_152) =--:, where & isa central diff

Show that

Fom Ay, GA., 108, 30 fr i G

Find the relation between a, B, v in order: th
express1b1e in one term in the factonal notaﬂon

Show that

n n :
uy, _[1 ]Ziuu—i +[2J22uzn—z

where u = ax® + bx + c.

- +(—2)“_un“=(-‘f»-_1;.)'n?{

Obtain Lagrange’s interpolation formula in the for

where L(x) = (x = xl)(k = xz) (x —xn)



Af=8F ,=V'f, =rih'E[x,x

it
2

where f. = f(x).

(6,6)

L9 (a) _ Prove that, if f{x) is a continuous function whose fifth differences are constant,

- then: j_ll f(x)dx = -g—f(O) + g{f(\fo—ﬁ)+f(—\/(ﬁ)} -

(6,6)

{700)
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Sr. No. of Question Paper : 2156 GEC-3 Your RoIlNG s mesees
Unique Paper Code : 32373901

Name of the Paper : Statistical Data Analysis Using Software Packages (SEE)
Name of the Course : B.Se. (H) Statistics (CBCS) — Skill Enhancement Course
Semester S 11§

Duration : 2 Hours Maximum Marks : 50

Instructions for Candidates

1. Write your Roll No. on the top immediately on the receipt of this question paper.
2. Attempt questions from Any One of the Two Parts I or II.

3. All questions are compulsory.

Part — 1 (Based on SPSS)

*

1. Fill in the blanks :

() In SPSS, Data file is saved with the extension
saved with the extension

and output file is

(ii) ‘Insert variable’ inserts a variable to the
the active cell in SPSS.

of the variable containing

(i) The data editor has two views and

(iv) In SPSS the default variable type is

(v) In order to completely delete cases and variables in SPSS is used
from the edit menu. (1x5)
PTO.
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. Answer any five of the following :

(i) Data of marks (out of 100) of 20 students in four different subjects are
given. One needs to know in how many subjects each student has got marks
greater than 70. Give the procedure to obtain it using SPSS.

(ii) Differentiate between variable labels and value labels in SPSS.
(iii) Differentiate between frequencies and descriptive menus of SPSS.

(iv) Name five standard command pushbuttons in most dialogue boxes of SPSS.

(v) Give the procedure for constructing bar chart in SPSS.

(vi) While using the Count Values within Cases transformation, which combinations

of values to count a user can specify. (2x5)

Answer the following :

() Is the Kaufman score approximately normally distributed ?

Count

100 1o

Kaufmann

(ii) A conservation scientist in Northern California conducted an experiment to
know the average speed of jackrabbits. A random sample of 20 jackrabbits
was taken and the speed was recorded. After conducting the test in SPSS

following result was obtained :

Test Value = 8.3
95% Confidence
Interval of the
. Sia. (2- Mean Difference
t df tailed) |Difference{ Lower Upper
813 19 A426] 422000  -6641] 15081

. . . 2 .
W hat 18 the p‘Value 1n ﬂllS case ¢/ Intetplet the XCsult on the baSIS Ofabo ve
(Hl) Whlch S ate]llent concer Ilu]g SPSS StatlStICS apphCatlon WllldOW S 1S coriect )

(a) At least one Data Editor wind.
oW must be open in o
session. P each SPSS Statistics

(b) At least one Out . .
put Viewer window must be open i

o i
Statistics session. pen in each SPSS

(C) At leaSl: one Sylltax Wlndow must be Op
€n 1n each
SPSS StatlSthS

(¢) Closing all open Syntax windows wi )
will result in th .
shutting down. € program automatically

(3

(iv) Which statement is true for this crosstab table obtained using SPSS ?

Gender *Eye Crosstabulation

Eye
color-blind | not color-blind Total
Gender male  Count 38 442 480
Expected Count 2141 458.9 480.0
female Count 6 514 520
Expected Count 229 497.1 520.0
Total Count 44 956 1000
Expected Count 44.0 956.0 1000.0

E1.0;
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(a) This table gives the chi-square test for independence of attributes.
(b) The expected numbers of females who are not color blind are 497.
(¢) The obsér_ved numbers of color-blind males are 38.
(d) All the above.
(v) Emma tests the following set of hypotheses with an independent samples
t-test :

H, : Students that spend more than 15 minutes in the first round of
registration give the same or a higher evaluation for the current coutse
scheduling procedure than students that spend 15 minutes or less.

H : Students that spend more than 15 minutes in the first round of
registration give lower evaluation for the current course scheduling
procedure than students that spend 15 minutes or less.

She conducted the experiment in SPSS and gets the following output:

Group Statistics

Time categories N Mean Std. Std. Error
Deviation Mean
Evaluate <= 15 minutes 37 3.24 1.461 . .240
> 15 minutes 59 3.47 1.443 .188

Independent Samples Test

Levene’s Test 7
for Equality | t-test for Equality of Means
of variances
Std.
F | Sig t df Sig. Mean Error
(2-tailed) | Difference | Difference
Evaluate Equal variances| .074 | .786 [-.761| 94 449 -231 304
assumed ;
Equal variances —.759(75.889| .450 -.231 .305
not assumed

2156 5

Which of the following statements is true ?

The evaluation of students that spend > 15 minutes is not significantly different
from the evaluation of students that spend < 15 minutes because

(a) The p-value of the t-test is .450.
(b) The p-value of the t-test is .225.
{c) The p-value of the t-test is 449,

(d) The p-value of the t-test is .2245 (1x5)

4. Answer any six of the following :

(i) What are the different levels of measurement specified in SPSS and briefly
explain them ?

(i) A community activist believed that there was a relationship between
membership in the police SWAT Team and prior military experience. He
collected data from several police departments in an effort to support his
belief. He found that there Were 57 members of the SWAT team with prior
military experience and 13 members with no prior military service. There
were also 358 police personnel who had military experience but were not
members of SWAT and another 413 with no military experience and not

correct statistical method and write the procedure for conducting the test in
SPSS.

(iii) Name any three interfaces of SPSS and give their applications.

(iv) Explain the functions of any three of the following functions used in SPSS:
recede, crosstabs, descriptive, compute.

(v) Write the procedure for constructing box-plot graph in SPSS and its
interpretation.

(vi) Briefly explain the concept of syntax in SPSS and also gives its advantage ?

PTO.

members of SWAT. Write the null and alternative hypotheses. Select the -
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(vii) Using ‘recode function’ in SPSS, writc the procedure for constructing

frequency distribution from the given raw data in case of
(a) equal class intervals

(b) unequal class intervals (5%6)

Part—2 (Based on MATLAB)

L. - Attempt any ten of the following ;

Consider the following to attempt the questions.

2 8 0 6
A=10 5 5lb=|-2 a=[-5 7 -3]
7.8 9

() What are the values of A_* b, b.*a; a.* b’ (Any Two) ?

(i) What is the command that extracts or isolates 2™ and 3 rows of the matrix
A.

(iii) Delete the 2 row of A, 2™ column of A and multiply the resultant matrices.
(iv) What is the result ofA'< b?
(v) What is the result of diag(b) and diag(a) ?

(vi) Explain the commands cle, mkdir, delete with one example each.

(vii) What is the purpose of path(...) ? Explain the command path(path, 'c:\"). l

(viii) What are system variables in MATLAB ? Give two examples.

(ix) Explain in brief the ‘rules’ for naming variables in MATLAB. Give one
example each of a valid and invalid Variable,

(x) Fill in the blanks :

(a) semilogx is similar to plot function, except x-axis is in scale.

2156 7

(b) A function file must have same name as the name.

(c) A script file must have an extension
(xi) Given x = [2,7,4,8,6,7,10], what will be the values of y in the following
statements :
{a) y=x>5,
(b) y = length(find(x > 5)) and
(c) x(find(x < 5)) =9 * ones(size(find(x < 5))).

(xii) For a matrix Cg, what does (a) C(;, 1: 3: end), (b) C([1,3], ) =[]
mean ? 19

L. Attempt any two of the following :

(i) Write a while loop that computes the sum 1 + x + x? + ... + x" for user input
value of n and x.

(i) Explain the different data types available in MATLAB.

(i) Discuss the difference between plot(...).and f plot(...) functions available in
MATLAB. (4x2)

). Attempt any one of the following :

(i) What will be the output of the following program ? Explain.

n=4;

y=[.1;

i=l;

for i=ones (n)
=+
i(j:n)=0;
ylyil;

end

Y

B0,
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(i) Write the functions, in general, you would use to compute ‘pdf, ‘cdf and
‘rnd” for the (a) Exponential distribution, (b) Gamma distribution and (c) FinE agestion rges s Speinall poie |
Uniform distributions.

SRR Sl. No. : 9023 GC - Your Roll No...wu.
4.  Attempt ;'my one of the following : i : Unique paper code 11013301
Paper : Radio Production
(@) Generate two variates Y, = U} and Y, = U, where the U, are from the Course : B. A. (Hons.) JOURNALISM SEC
Uniform distribution. If ¥, +Y, <1, then
SEMESTER : I
i Ay ‘
i % Time: 3 Hours Max. Marks: 75
is from a Beta distribution with parameters o and B. Write a program to (Write your roll no. on the top immediately on receipt of this question paper.)

generate 100 r.v.s using this method and calculate mean, variance.

. d Attempt all five questions. All questions carry equal marks.
(i) Plot the functions N(x; p, &) and EN(X; K, o) for x =—3(0.1)3 and p = 10,

o=2 USiIlg plotyy(...). (7)( ].) ] ) ] ]
: Q1.  Describe the various elements of a radio magazine.

OR
Explain the stages involved in the preparation of a radio interview.
Q2. Differentiate between radio feature and radio documentary.
OR
Write a radio feature on any one:

a) Delhi Metro Ride
b) HazratNizamuddinDargah

Q3.  What is the importance of editing in radio production? What are the different types of
editing? :

P.T:0.

(200)
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Q4.

Qs.

OR
Describe the working and the layout of a radio PCR.

What are the rules for radio writing? How are they different from writing for other media
platforms.

OR

Explain the acoustic considerations for designing a radio studio.

Write short notes on any two: 7.5x2

a)  Audio Mixer

b) Microphones Polar Patterns
¢) Role of Producer

d) Radio Jingles

(400)
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Name of the Paper : Critical Thinking
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Instructions for Candidates
1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any three questions from Section-A and two questions from Section-
B.

3. All questions carry equal marks,

4. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.

B & fow fde

1 wm—w%ﬁaﬁﬁwﬁqmﬁmﬁamwmm%@|

2 WIE-H A FE AT A TN @S -F A A 2w A |

3. a¥ft vl R siem wA ¥

4. wm~wmwmm%ﬁﬁﬁﬁmw%éﬁmﬁﬁwmﬁwﬁwmw
€ B Wiy |

Section-A (®WUs-31)

1. Discuss the common cognitive biases which affect critical thinking ?

A I (e e TR SelieriTones Rram ot i a2 ? T i |

2. Define critical thinking. Explain the role of beliefs and claims in eritical thinking.
amﬁwaﬁq%ﬂﬁaaﬁﬁmﬁmaﬁzwﬁfaﬁ FTAreIoTeh foaR F T
T 2 ?

PT.@.
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3.

10.

Explain and illustrate the difference between (i) Ethos (i) Pathos (iii) Logos.

Wﬁ,ﬁﬂﬁ&ﬂ?ﬁ?ﬁ%ﬁﬁmmaﬁml

How vagueness is different from ambiguity ? Explain.

mﬁﬁaama#wﬁm%ﬁmmﬁw%?mmﬂﬁmn

What do you understand by Definition 2 What purpose it serves? Discuss kinds
of definitions.

qﬁﬂm%mwaﬁm%?mwm??m@fémﬁﬁ%m
HIWT |

Section-B (Wus-4)

In a process of thinking which elementary steps are involve ? Explain.

foramd it e ¥ A e w2 wRafE 2 7 s SR |

How ideas are related to judgment ? Discuss.

T e vER ¥ Folr ¥ el 2 7 fde R O

How do we learn to view things as having specific meanings ? Discuss.

& o R gt B Rl ot e 2 7 Rl iR

Discuss empirical thinking and its disadvantages.

mmwmmﬁﬁmm.

Discuss scientific thinking and its advantages.

%ﬁmﬁmwmwﬁﬁ%ﬂmﬁml

(700)



